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QUESTION 1

A team decided to install a large traffic light in the team hall to indicate whether the latest build was healthy (green),
failing a few tests (orange) or failing high priority tests (red).

What term can be used to describe the traffic light?
A. Information radiator

B. Osmotic communication

C. Triangulation

Correct Answer: A

QUESTION 2

Why is planning poker an effective estimation technique?

A. It generates a lot of useful discussion and gets team buy-in.

B. It results in lower estimates as team members will estimate individually.
C. It triggers a more detailed and task oriented break-up of the story.

Correct Answer: A

QUESTION 3

Why are estimates expressed in terms of story points difficult to explain outside of the team?
A. It requires a comparison to a benchmark, which typically varies from team to team.

B. It requires a deeper understanding of the technical approach to implement each story.

C. It requires breaking the stories down into Sprint Backlog Items, which only the team can do.

Correct Answer: A

QUESTION 4

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint.

What is the most likely reason that the team did not meet the Sprint objectives?
A. The Product Owner is unable to prioritize.

B. The team is lacking skills.
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C. The team did not plan the Sprint effectively.
D. The team is over-worked.

Correct Answer: C

QUESTION 5

Why does the Daily Scrum need to be held at the same location and time?

A. The booking of a room needs to be done in advance for the duration of the Sprint.
B. The constant time and place is best for continuity of the Scrum framework.

C. The Project Manager needs to get the status updates at a given time every day.

Correct Answer: B
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